Skip Cownting Word Problem Caros

Tim has four bins of
cars. Each bin has ten
cars. How many cars
are there in his bins?

T saw five nests ina
tree. There were two
eggs in each nest. How

many eggs did I see?

My pet dog likes to eat
bones. Every day, he
eats five bones. How
many bones will he eat

in three days?

Mom made cookies for
the family. Each tray
had ten cookies on it.
If she made four trays,
how many cookies did
mom make?




Skip Cownting Word Problem Caros

Six girls are swinging on
the swings. How many
eyes are there?

There are five vans
going to the zoo. Each
van can hold five people.
How many people are
going to the z00?

Jan has six boxes of
crayons. Each box
holds ten crayons. How
many crayons does Jan
have?

There are seven boys
walking in their flip
flops. How many toes
are there?




